
( Grammar and Vocabulary ) 

VII. Four alternatives are given for each of the following questions / incomplete 
statements. Only one of them is correct or most appropriate. Choose the correct 
alternative and write the complete answer along with its letter of alphabet : 

   10 × 1 = 10 

27. He is ..................... Indian, but his wife is .................. European. 

 The correct pair of articles to be filled in the above blanks is  

 (A) the ;  an (B) an ;  an 

 (C) an ;  a (D) a ;  a. 

28. Dr. Jenner discovered how to vaccinate against small pox, ................. ? 

 The appropriate question tag to be added to the above sentence is  

 (A) hadn’t he (B) didn’t he 

 (C) did he (D) had he. 

29. The bus is coming round the corner. 

 The tense of the verb in the given sentence is  

 (A) Simple Past (B) Simple Present 

 (C) Past continuous (D) Present continuous. 



30. Drive slowly, .................... for potholes on the road. 

 The correct phrasal verb to be used in the above blank is  

 (A) look at (B) look out 

 (C) look over (D) look up. 

31. The President called off the meeting. 

 The passive form of the above sentence is  

 (A) The meeting was called off by the President. 

 (B) The meeting has been called off by the President. 

 (C) The meeting had been called off by the President. 

 (D) The meeting will be called off by the President. 

32. Pick out the complex sentence from the alternatives given below : 

 (A) Being an honourable man, he will not tell lies. 

 (B) He is an honourable man and he will not tell lies. 

 (C) Since he is an honourable man, he will not tell lies. 

 (D) In spite of being an honourable man, he will not tell lies. 

33. Only one of the given sentences is correctly punctuated. Identify it : 

 (A) “Why are you so late for the meeting, Robert ?” asked Anwar. 

 (B) Why are you so late for the meeting, Robert asked Anwar. 

 (C) “Why are You so late for the Meeting, robert ?” asked anwar. 

 (D) “Why are you so late for the meeting Robert ? asked Anwar.” 

34. ..................... in dots and pits 

 like the Morse code of bird’s sorrow. 

 The figure of speech used here is  

 (A) Simile (B) Personification 

 (C) Metaphor (D) Synecdoche. 



35. The government has launched a massive campaign .................... smoking. 

 The correct preposition to be used in the above sentence is  

 (A) for (B) between 

 (C) against (D) after. 

36. ...................... the boy is clever, he is lazy. 

 The appropriate conjunction to be used in the blank is  

 (A) But (B) And 

 (C) Though (D) Since. 

VIII. Observe the relationship in the first pair of words and complete the second pair 

accordingly in the following : 4 × 1 = 4 

37. Elude : Escape :: Ecstasy : .......................... . 

38. Role : Roll :: Great : ........................... . 

39. Moral : Immoral :: Real : ........................... . 

40. Progress : Progressive :: Victory : ....................... . 


